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Explanations to select answers

18. (C) Often in colloquial English, the word ‘to’ gets added as in option ‘D’. However, that is
not grammatically correct in reported speech.

21. (B) Option ‘B’ is correct. Option ‘D’ could go near but is not exactly antonymous.
23. (A) ‘rooves’ is not the plural of ‘roof’ although it has similar spelling characteristics as the

word ‘leaf’.
25. (B) shows the error. The word ‘every’ shows habitual action and hence compels one to use

simple present of the main verb ‘come’ instead of the ‘present continuous’ used thereat.
26. (A) shows the error. In ‘wh’ interrogative questions the supporting/auxiliary verb has to

precede the subject. Hence, it would be ‘should I’, not ‘I should’, as there.
41. (B) All pictures in common carry one principle, ‘saving energy’ of some kind.
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